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1. Which of the following complex ions is expected to absorb

visible light?

A [Sc(H,0)4] "

B. [V(NH;),]**

C. [Ti(NH;), "™


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_eK4FQzAxgACJ

D.[Zn(NHz))e]* "

Answer: B

° Watch Video Solution

2. Predict the percentage of isomers formed during
monobromination of 23-dimethyl butane at room
temperature. Relative reactivity of 1° , 2° , 3° H atoms to
chlorination is (1.0: 3.8:5.0) .

A.15% ,45%,20 % , 25 %

B.14%,35%,23 % ,28 %

C.12%,30%,22%,29 %

D.17%,36 % ,20 %, 23 %


https://dl.doubtnut.com/l/_eK4FQzAxgACJ
https://dl.doubtnut.com/l/_AdjxZ1MpxLSC

Answer: B

° Watch Video Solution

3. The IUPAC name of the given

O Br

I
C’H3—C’—C’H—|CH—COOHis-
I

A. 4 - keto -3- bromo -2- iodopentanoic acid
B. 2 -iodo -3- bromo -4- keto - pentanoic acid

C. 3 -bromo -2- iodo -4- ketopentanoic acid

D. 4 - carboxy -3- bromo -4- iodopentanoic acid

Answer: C

structure

° Watch Video Solution



https://dl.doubtnut.com/l/_AdjxZ1MpxLSC
https://dl.doubtnut.com/l/_Ik9C6QfVhaj0

4. Which of the following statements is (are) incorrect?

(i) Percentage ionic character in CsCl bond is ~55%.
(Electronegativity values of Cs and Cl are 0.7 and 3.0
respectively)

(i) From H,0 to H30™", the geometry around O atom
changes drastically .

(iii) The most stable oxidation state for element with atomic
number 113 is expected to be + 2.

(iv) The 2°¢ ionization energy of Ca is greater than 1%
ionization energy of it but lower then 224 jonization

energyof K.

A.Onlyi

B. i,il, iii


https://dl.doubtnut.com/l/_Ik9C6QfVhaj0
https://dl.doubtnut.com/l/_klR6myjN56Kt

D. iii, iv

Answer: C

° Watch Video Solution

5. Out of the following ions
T3, V3T, Cut, 8", Mn®' and Co®>" the colourless
ions will be

A.Cut, St

B. T3+, V3t

C.Cu™,Co*™"

D.Sc* T, Fe? ™


https://dl.doubtnut.com/l/_klR6myjN56Kt
https://dl.doubtnut.com/l/_QyGNAKYgi5kv

Answer: A

° Watch Video Solution

6. The product (A) of the following reaction

/ 7
CH30H
Sl
—O0
CH, — CH,
A | |
CH;O0  COOH
CH, — CH;
B. | |
HO  COOCH;
CH, — CH,
C. | |

CH30 COOCH;


https://dl.doubtnut.com/l/_QyGNAKYgi5kv
https://dl.doubtnut.com/l/_fxngbyUtoaVA

CH, — CH,
D. | |
OH CH,OH

Answer: B

° Watch Video Solution

7. Consider the following carbanions :

Correct decreasing order of stability is -

AIlI > 111 >1V > 1

B.IIT > 1V >1 > 11


https://dl.doubtnut.com/l/_fxngbyUtoaVA
https://dl.doubtnut.com/l/_ss0FSY1ZWcIU

CIV >1>1II>1II

D.I > 1II > 1II > 1V

Answer: A

o Watch Video Solution

8.A4¢9,S + NaCN — (a)
(@) +Zn — (d)

(b) is a metal. Hence (a) and (b) are
A. Na, :Zn(CN)4: , Zn

B. Nay[Ag(CN),|, Ag

C. NCI,Q

Ag(CN)4 ’ Ag

D. Na3|Ag(CN),]|, Ag


https://dl.doubtnut.com/l/_ss0FSY1ZWcIU
https://dl.doubtnut.com/l/_XJqysokjHuen

Answer: B

° Watch Video Solution

9. Which of the following option is correct for given curve?

-
sresssntsn s

log (x/m) 4

3ls 3w

3|s


https://dl.doubtnut.com/l/_XJqysokjHuen
https://dl.doubtnut.com/l/_oyeUySHVahHV

Answer: C

° Watch Video Solution

10. Acetone on addition to methyl magnesium bromide
forms a complex, which on decomposition with acid gives X
and Mg(OH)Br. Which one of the following is X?

A.CH;0H

B. (C’H3)3COH

C. (C’H3)2C’HOH

D. CH,CH,OH

Answer: B


https://dl.doubtnut.com/l/_oyeUySHVahHV
https://dl.doubtnut.com/l/_3lTVvSI7ATqm

° Watch Video Solution

"N.A+ H,O — B+ HCI

Compound (A), (B) and (C) will be respectively:

A. PCl;, POCls, H3 PO

B. PCls, POCls, H3 PO,

C. SOCl,, POCls, H3 PO,

D. PCls, POCls, H3 PO,

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_3lTVvSI7ATqm
https://dl.doubtnut.com/l/_Sx19bbyjidr8

12. Which of two water sample A & B with BOD of 10ppm and

20 ppm respectively, then mark correct option

A. A'is more polluted

B. B is more polluted

C. A and B both are equally polluted

D. A and B both are equally suitable for drinking.

Answer: B

° Watch Video Solution

13. A compound A dissociate by two parallel first order paths

at certain temperature

A(g)m (min~') -2B(g)k =6.93 x 10 *min "


https://dl.doubtnut.com/l/_dHQ6DCT6n8EM
https://dl.doubtnut.com/l/_nmbOLOt5gAAT

A(g)lﬁ(min*l) —C(g)k2=6.93 x10 *min "
If reaction started with pure 'A' with 1 mole of A in 1 litre
closed container with initial pressure (in atm) developed in
container after 50 minutes from start of experiment?

A.1.25

B.0.75

C.1.50

D. 2.50

Answer: D

° Watch Video Solution

14. On subjecting 10ml mixture of N, and CO to repeated

electric spark to form CO,y and NO, 7 ml of Oy was required


https://dl.doubtnut.com/l/_nmbOLOt5gAAT
https://dl.doubtnut.com/l/_ieA9HiKbuRd6

for combustion. What was the mole precent of CO in the

mixture ? (All volumes were measured under identical

conditions)

A4

B.6

C.40

D. 60

Answer: D

o Watch Video Solution

15. The increasing order of Ag™ ion concentration in
. Saturated solution of AgCl

Il. Saturated solution of Agl


https://dl.doubtnut.com/l/_ieA9HiKbuRd6
https://dl.doubtnut.com/l/_a3xsLgKSrL5F

. 1MAg(NH;),” in 0.1MNHs;
IV.1MAg(CN), in 0.IMKCN
Given :

K,, of AgCl=1.0x 101"
K,, of Agl=1.0x10"1°

K; of Ag(NHs3), =1.0x 1078

K; of Ag(CN); =1.0x 10" *

Al <II<III<IV
B.IV < IIl < II <1
CIV <II <III<I

D.IV < II < I < III

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_a3xsLgKSrL5F

16. A 100m! solution of 0.1NHCI was titrated with 0.2?
NNaOH solution. The titration. The remaining titration war
completed by adding 0.25NKOH solution. The volume of
KOH required for completing the titration is

A.16 ml

B.32 ml

C.35ml

D.70 ml

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ZmFFIo8KWWwu

17. Hydrocarbon(A) reacts with bromine by substitution to
form an alkyl bromide which by Wurtz reaction is converted

to gaseous hydrocarbon containing less than four carbon

atoms (A) is
A.CH; — CH;
B. CH2 = CHQ
C.CH=CH
D.CH,

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_ZS0CReXNfStz

18. Mole fraction of the toluene in the vapour phase which is

in equilibrium with a solution of benzene (p° = 120 torr )

and toluene (p°=80 torr) having 2.0 mol of each is :

A. 0.50

B.0.25

C.0.60

D. 0.40

Answer: D

° Watch Video Solution

19. When two compounds Acls and DCl; of two elements

A and D are mixed together a compound ADClI; is formed.


https://dl.doubtnut.com/l/_JYLOVeR4gMbi
https://dl.doubtnut.com/l/_9z0lr1MXB2L0

Structural analysis showed that AdClg is an ionic
compound. Given that D(Cl3 is trigonal planar and Acls is
trigonal pyramidal, predict the shape of the anion DCI, .

A. See - saw

B. Perfect tetrahedral

C. Square planar

D. None of these

Answer: B

° Watch Video Solution

20. Pegarding the structure of SO, and SeO, which of the

following is true-


https://dl.doubtnut.com/l/_9z0lr1MXB2L0
https://dl.doubtnut.com/l/_j4io8FgpYDNZ

A.The gaseous SO, and SeO, have same V - shaped

molecule both in solid and gas phase

B. At room temperature both SO, and SeO, are solids.

C.In the solid phase the structure of SO, is V - shaped

discrete molecule but SeQO, is cyclic trimeric

D.In solid phase the sturcture of SO, is V - shaped

discrete molecule but SeO, has linear polymeric chain

Answer: D

o Watch Video Solution

21. Calculate the equilibrium constant for the reaction :

Fe?t + Ce*t < Fe*t + e Given,


https://dl.doubtnut.com/l/_j4io8FgpYDNZ
https://dl.doubtnut.com/l/_Q7a8TbOQLkCy

Eiy- joar = 144V and Efy. p.. = 0.68V

° Watch Video Solution

22. Consider the following conversion :

0
A/\/(‘UIDH — )\/\/u\
NH-

|
PN

Amongst the following, how many methods can be used in
any one of steps involved in the mentioned conversion?

i. Hoffmann bromamide degradation

ii. Gabriel phthalimide synthesis

ili. Sandmeyer reaction

iv. Clemmensen reduction

V. Mendius reduction



https://dl.doubtnut.com/l/_Q7a8TbOQLkCy
https://dl.doubtnut.com/l/_GsLwZfY6bsMj

| @ Watch Video Solution

23.The surface of copper gets tarnished by the formation of
copper oxide. Ny gas was passed to prevent the oxide
formation during heating of copper at 1250 K. However, the
N gas contains 1 mole % of water vapour as impurity. The
water vapour oxidises copper as per the reaction given
below: 2Cu(s) + H20(g) — Cu20(s) + Ha(g) is the
minimum partial pressure of H2 (in bar) needed to prevent
the oxidation at 1250 K. The value of In is . (Given: total
pressure = 1 bar, R (universal gas constant) =
8JK — 1mol !, 1n(10) = 2.3. Cu(s) and CusO(s)  are
mutually immiscible. At 1250
K:2Cu(s) +1/202(g) — Cu20(s)

A HY = — 78,000Jmol !


https://dl.doubtnut.com/l/_GsLwZfY6bsMj
https://dl.doubtnut.com/l/_p9ZzMcwPh8Ys

H,(g) + 1/20,(9) — H,0(g), A G = —1,78,000Jmol ~*

, G is the Gibbs energy

° Watch Video Solution

A
24. 3 — Methylbutane — 2 — ol + Hl — X Idenfity the
position of carbon in the main chain to which nucleophile is

added in the product 'X'?

° Watch Video Solution

25. Calculate the osmotic pressure in pascals exerted by a
solution prepared by dissolving 1.0g of polymer of molar

mass 185, 000 in 450m L of water at 37°C.

° Watch Video Solution



https://dl.doubtnut.com/l/_p9ZzMcwPh8Ys
https://dl.doubtnut.com/l/_tRUR7VrpL20h
https://dl.doubtnut.com/l/_3MKx0Q7E0U17



https://dl.doubtnut.com/l/_3MKx0Q7E0U17

